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Question Number : 1 Question Id : 7155054042 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

LetA={1.3.4.6,9} andB={2, 4,5, 8, 10}. Let R be a relation defined on A x
B such that R = {({a;. by). (a;. by)) : a; =b, and by = a, }. Then the number of

elements in the set B 1s

Options :

71550512801. 26

L
[ ]

71550512802. >

71550512803. 160

71550512804. 180

Question Number : 1 Question Id : 7155054042 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Online
Mandatory
20

20

80

Yes

0

1
715505247
Yes

null



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HATA={1,3,4,6,9} AUIB={2,4,5.8,10} S HH WA xBR TP _
YEUR = {((a;. by). (a2 b)) 12, b, AUTb, <a, } TI Al R T 3{aTd| Bl TAT 6:

Options :

71550512801. 26

L
[ ]

71550512802.
71550512803. 160

71550512804. 180

Question Number : 2 Question Id : 7155054043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1

The domain of the function / (¥)= F a8 arv i
ﬁ,J[.JCJ —3[,1’]— | 0

15 (where [x] denotes the greatest
integer less than or equal to x)

Options :

71550512805, (—0,-2)U [6~ ©)
71550512806, (—%°; -3]U[6,»)

71550512807. (—o0,-2)U(5, )

71550512808, (0 —3]U (5,)



Question Number : 2 Question Id : 7155054043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
! " .
T /(%)= R S8l [x] e QI[P <x 8, I Hid &

Options :

—<0,-2)U[6.)

71550512805. (

71550512806, _3} U [fh %
71550512807. (—0,-2)U(5, )

71550512808, (—%©; =3]U(5,)

Question Number : 3 Question Id : 7155054044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
C:Re(a+Z)>Im(a+z)}and

For geC.letA= <: ze
z)<Im(a+z }} Then among the two statements:

B:{ zeC:Re(a+
(S1) : If Re (a). Im (a) = 0. then the set A contains all the real numbers

(S2) : If Re (a). Im (a) < 0, then the set B contains all the real numbers,
Options :

71550512809. both are true

71550512810. both are false

71550512811, only (S1) is true



71550512812, only (52) is true

Question Number : 3 Question Id : 7155054044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

acC & A0, AT A = { z2eC:Re(a+2)>1Im(a- 2}} S
B:{ZEE:RL‘{U+E}«: Im(E+zJ}%|?ﬁa‘T$U:ﬁ:

(S1) : A& Re (@), Im (a) > 0 B. I Tt adfas Temi AT ©

(52) : Al Re (a). Im (a) < 0 B. ol Gl adfas Y=iB O ©
EEHES

Options :
71550512809, &Il I B

71550512810, Gl A B

71550512811, Paq (S1) A ®

71550512812, Pad (32) A Q

Question Number : 4 Question Id : 7155054045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



If the system of linear equations

Tx+1ly+az=13
Sx+4y+7z=p
175x+194y+57z= 361

has infinitely many solutions, then o + p + 2 is equal to:
Options :

71550512813. 3
71550512814. 4
71550512815. 3

71550512816. 6

Question Number : 4 Question Id : 7155054045 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofe Yae gete Fem

Ix+1ly+az=13
Sx+4y+Tz=p
175x+194y+57z= 361

B IAdTAG, dla+p+2 NER 6:
Options:

71550512813. 3
71550512814. 4

71550512815. 5



71550512816. 6

Question Number : 5 Question Id : 7155054046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x+1  x -
Ifl x x+4 X |= L( 103x +81). then 4, % are the roots of the equation
X x  x+A ‘
Options :

71550512817, 4x* +24x-27=0

71550512818, 4x° —24x—27 =0

;
71550512819. 4x~ + 24x+27 =0

3
71550512820. 4x~ —24x+27 =0

Question Number : 5 Question Id : 7155054046 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x+1 X X
( f o .
gfd| x x+4  «x =§(H)3_r+81)%_ﬂ“‘u% [T U0 & T0d 82
X x  x+AY ‘
Options :

71550512817, 4x* +24x-27=0



71550512818, 4x° —24x—27 =0

71550512819, 4x° 4+ 24x+27 =0

71550512820, 4x* —24x+27=0

Question Number : 6 Question Id : 7155054047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the letters of the word MATHS are permuted and all possible words so formed

are arranged as in a dictionary with serial numbers, then the serial number of the
word THAMS is

Options :

71550512821. 101

71550512822. 102

71550512823. 103

71550512824. 104

Question Number : 6 Question Id : 7155054047 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e MATHS st & H&RI & ATl T 51 JHI Usal Bl TP UG DI B TRe
H T=T & T HArRYd fHa1 91T 8, o Teg THAMS &I HH &1 6 -

Options :




71550512821. 101
71550512822. 102
71550512823. 103

71550512824. 104

Question Number : 7 Question Id : 7155054048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
. . _ ‘ . (ax 5 V02
If the 1011™ term from the end in the binominal expansion of | ik - J 15
5 2x
1024 times 1011" term from the beginning, then |1| 15 equal to

Options :

71550512825, §
71550512826. 10
71550512827. 12

71550512828. 15

Question Number : 7 Question Id : 7155054048 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



2022

Hﬁf“_;_ziJ ¥ frue TR A 3id ¥ 10117 ug, SR 10119 GG BT 1024
| 3 x

TG, || SRI6R B -

Options :

71550512825. 8§
71550512826. 10
71550512827. 12

71550512828. 15

Question Number : 8 Question Id : 7155054049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The sum of the coefficients of three consecutive terms in the binomial expansion
- 2 . . . 2 .
of (1+ Xjﬂ <, which are in the ratio 1:3:5, is equal to

Options:

71550512829. 25
71550512830. 41
71550512831. 63

71550512832. 92

Question Number : 8 Question Id : 7155054049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

(1 +x)*2, & fgue TR & diH AT 9al & 0!, Sff 1:3:5 % U J €,
BT AT RIS T -

Options:

71550512829. 25
71550512830. 41
71550512831. 63

71550512832. 92

Question Number : 9 Question Id : 7155054050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let a, b, ¢ and d be positive real numbers such thata+b +c+d=11. If the

maximum value of a°b>c?d is 3750p, then the value of P is
Options:

71550512833. 55

71550512834, 90

71550512835. 108

71550512836. 110

Question Number : 9 Question Id : 7155054050 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

AT a, b, ¢ TUT d YTHD m\&m’amﬁ@ﬁ%mﬁaw—c—d: 1181
e 2563 2d BT IHTH A 3750p 8. AP HI A & -

Options :

71550512833. 55

71550512834. 90

71550512835. 108

71550512836. 110

Question Number : 10 Question Id : 7155054051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let fand g be two functions defined by

_ x+1, x<0 [x+1, x<0
4 )_{I—IL x20 ™ g(ﬂ_i L, x20
Then (gof) (x) 1s

Options :

71550512837, differentiable everywhere

71550512838. not continuous atx =—1

71550512839, continuous everywhere but not differentiable at x =1

71550512840, continuous everywhere but not differentiable exactly at one point



Question Number : 10 Question Id : 7155054051 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
O & - £ddl ¢,

TIG'

_ x+1, ,1'-':[l [x+1, x<0
(-1 =1
L

x—l|, .r::U 1 x20

[-1Ed] gyTeg %F[ Gl (gof) (x)

Options :

71550512837, R IR Hadh a4 §

71550512838, x = — 1 U Had gl o

71550512839, R TR el & U x = 1 TR (D14 ol &

71550512840, R TR H & TR 1 U ffg W 3aHe-1d T 6

Question Number : 11 Question Id : 7155054052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the function f: [0,2] — R be defined as

bt =[xl xefon)

}r(}*} = [r—]ng 3 1']
¢ T X € [L 2]
where [t] denotes the greatest integer less than or equal to 7. Then the value of the
2
integral .:i'q. is
U
Options :

71550512841.



71550512842, 2Ze -1

1

2e——
71550512843. 2

"l
(e=1)
71550512844, \

!
”
e‘+—J

bd | =

Question Number : 11 Question Id : 7155054052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

emm{f,x-—[x]}‘ xe[0,1)
TON=R 6= ]

GRT ARHIYT &, STef [1] BT HgTH JUIid <¢ T ﬁTWIﬁ(”m—aﬂm
(]
e

Options :
71550512841. F
71550512842. 2e -1

2@—1

71550512843. 2

71550512844.



" +—

(e=1)

-~
o
I3
e

Question Number : 12 Question Id : 7155054053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If f: R — K be a continuous function satisfying

2 4 _ !
If(:-;in 2x)sin x dr-l—e:xj S (cos2x)cosx dx=0- then the value of o is
1] 0

Options :

71550512845, —2

71550512846. V2
_
71550512847, —3

71550512848, V'3

Question Number : 12 Question Id : 7155054053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e £: R — R U 9dd B ¢ aul

2 4
_..f[sin 2x) sin x dI'i-EIJ.f(CUSEI)CUS_\' dx =0 8.l o BTAF ©
0 0

Options :

71550512845. — 2



71550512846, V2

_
71550512847, —3

71550512848, /3

Question Number : 13 Question Id : 7155054054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let v =y (x) be the solution of the differential equation

™~
o
h

(¥ +1) |
L v >0 Ify(1)=2. then (2) is equal to

=
f

=
-
-
e
b
1
+
"
o
-

Options :

637
71550512849. 128

679
71550512850. 128

71550512851. 128

697
71550512852, 128

Question Number : 13 Question Id : 7155054054 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T Srawq wefieRe &, ,~=(A3J:'J > 0PTEAy=y ()7
dx x(.‘r'+l)' X
Tl (1) =2 8, @ y(2) R T
Options :
637

71550512849, 128

679
71550512850. 128

71550512851, 128

697
71550512852, 128

Question Number : 14 Question Id : 7155054055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the radius of the largest circle with centre (2.0) inscribed 1n the ellipse

x2+47 =36 is 1, then 1217 is equal to
Options :
71550512853. 69

71550512854, 72

71550512855. 92



71550512856. 115

Question Number : 14 Question Id : 7155054055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe e x2+4)” = 36 B faTld, B (2,0) P G TS g1 I Brsare g, Al
12¢° R © -

Options :

71550512853. 69
71550512854. 72
71550512855. 92

71550512856. 115

Question Number : 15 Question Id : 7155054056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let P be the plane passing through the points (5.3.0), (13.3, —2) and (1.6.2).
For o € N, if the distances of the points A (3. 4, o) and B (2. o, a) from the plane P
are 2 and 3 respectively. then the positive value of a 15

Options :

71550512857. 3

71550512858. 4

L

71550512859.



71550512860. 6

Question Number : 15 Question Id : 7155054056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o1 F9ad P, fdg3ii (5,3,0), (13,3, —2) AT (1,6,2) Y BIBR O 6l o € N & [eU
i fag3ii A (3, 4, o) AUTB (2, 0, 2) I IHIA P Y gRUTPH: 2 AUI3 8, Tl a
HI YD A & -

Options :

71550512857. 3

71550512858. 4

L

71550512859.

71550512860. 6

Question Number : 16 Question Id : 7155054057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the line passing through the points P (2, —1, 2) and Q (5. 3. 4) meet the plane
x —) +z =4 at the point R. Then the distance of the point R from the

o X—T V43 =2
plane x + 2y + 3z + 2 = 0 measured parallel to the line : 2 : = 1s
equal to )

Options :

71550512861. 3

71550512862. V31



71550512863, VO 1

71550512864, ¥ 189

Question Number : 16 Question Id : 7155054057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT fdg3M P (2, -1, 2) TUTQ (5, 3, 4) W BIPR ST ATl XG@T, §HA x — y + 2= 4
%! fdg R W el 51 a1 faig R &1 95dd x + 2y + 3z +2 =0 9, 3@l

x—17 _ y+3 _ :I“ﬁwwﬁ@%-

2 2

Options :

71550512861. 3

71550512862. V31

71550512863. VO 1

71550512864, V 189

Question Number : 17 Question Id : 7155054058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If four distinct points with position vectors j 4 & and j are coplanar, then

|:Eif b E:| is equal to

Options :



71550512865. |:d b I:_IiF:| b I:EE ¢ d:| E |:d b E:|
71550512866. |:d ¢ L_.;j| % I:b d H:| E |:E: c‘j lIhl:|
71550512867. [a d b:| +[d . a]+[d b E:|

71550512868. |:E} c d:| + I:d a E] E |:”‘T b J:|

Question Number : 17 Question Id : 7155054058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afR R e g, s R W ¢ o & Wl 8.4 [ b ¢ |
WER T -

Options:

71550512865 [”; b 'ﬂ b [a ¢ ”i] t [J b E]
71550512866. [”; 2 'ﬂ i [‘E; d ‘ﬂ T [E d "ﬂ
71550512867. [a d b} +[d . a}[d. b EJ

71550512868. |:E} ¢ d:| + [d a E] L |:“‘T b {_f:|

Question Number : 18 Question Id : 7155054059 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the mean of 6 observations 1, 2. 4, 5, x and y be 5 and their variance be 10.
Then their mean deviation about the mean is equal to

Options :

71550512869.

L | 0o

71550512870.
71550512871. 3

10
71550512872. 3

Question Number : 18 Question Id : 7155054059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 6 U&UN 1,2, 4, 5, x AUTy BT AT 5 § AU 5951 WORU1 10 B | 1 551 7144
& e 71T fqae &

Options:
7
71550512869. 3

8
71550512870. 3

71550512871. 3



10
71550512872. 3

Question Number : 19 Question Id : 7155054060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The angle of elevation of the top P of a tower from the feet of one person standing
due South of the tower 1s 45° and from the feet of another person standing due
west of the tower 1s 30°. If the height of the tower is 5 meters, then the distance (in
meters) between the two persons 1s equal to

Options :

71550512873. 3

71550512874. 55

5

35
71550512875. 2

71550512876. 10

Question Number : 19 Question Id : 7155054060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% dafad, oIl U% HIAR & 180 & 3R @Sl 6. & IR ¥ HHFR & RRaRp &
TAT BIVN 45° § TUT T 3= SAfad, Ol HHFR $ UAT Sl RTS8, IR Y
P &1 390 ®I0 30° B | TS HIAR &t Sa1g 5 diev e, di g3 <l aufaayi & dig
Pl gl (fieR H) B -

Options :

71550512873. 5



71550512874. 55

i
i
71550512875. 2

71550512876. 10

Question Number : 20 Question Id : 7155054061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The converse of ((~p) A Q) =r1s

Options :

71550512877. PV (~q) = (~1)
71550512878, ((~p)V q)=r
71550512879, (~1)=pAg

71550512880, (~1) = ((~p) A q)

Question Number : 20 Question Id : 7155054061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(~p)AQ) = PITAAHE -

Options:

71550512877. PV (~q)) = (~1)



71550512878. (-p) Vg )=r

71550512879, (~t)=pAg

71550512880. (~1) = ((~p) A q)

Mathematics Section B

SectionId : 715505248
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505248
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7155054062 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let S= :E_-'C—{:'.ZE}:ZE—I_S;?_E:E?FE.}H (r—%fes~G.EH;—{D}_.then
I ==

T
2420" 15 equal to



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 7155054062 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2% 4 8iz — - 3
HATS = Z'E_-'C—{f-. 2!}%&?}3' 2 aﬂl’—ll—li'-ES.. U'-ER_{D}
2 =32 — L

8. a1 2420 R B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054063 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LetA={1.2.3.4.5} and B={1. 2, 3. 4. 5, 6}. Then the number of functions f: A— B satisfying
F)+f(2)=f(4)-1 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054063 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATA={1,2,3.4,5 U B=1{1,2.3,4.5.6) BRI A F(1) +f2)=F(4) -1 PI
I H= dId Bl £: A— B B ST §

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054064 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

4 8 13 19
For k € N, if the sum of the series |+ I + A—,, - F + —+... 1s 10, then the value

4!(4
of kis
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 23 Question Id : 7155054064 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

4 19 g :
ke N & forg, gfc gufi |+E+%+'—f+—'+.“ HTAN 108, T kBT HA S

KBk
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054065 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Bx . _6x je'—b:

; 2 T :
The number of points, where the curve f(x)=e> —e —e~+1,x € R cuts

x-axis, 18 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054065 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 fagafl, SIel b f(x) =3 — e —3e* — &2 + 1, x € R, x-31& DI PICdl 6,
GARIRCIES




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054066 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If A is the area in the first quadrant enclosed by the curve C: 2x> —y + 1 =0, the
tangent to C at the point (1, 3) and the line x + y = 1, then the value of 60A 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054066 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g a® ¢:2x2—y+1=0,C & 45 (1, 3) W OH WG aUI W@ x +y =1 R,
TYH TUT H, & BT &5 A §, Al 60A RIS 8 ,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054067 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the line [ : 3y — 2x = 3 is the angular bisector of the lines [, : x —y + 1= 0 and
Iz :ox+Py+17=0, then of + [ —a—f is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054067 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hﬁii@sl : 3;-—2:(:3%@&%;3 x—y+1=0qdUll;: ex+By+17=0 DI HI
HfgHE® 6. dl o + 2 —a—f RIS & ;

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 27 Question Id : 7155054068 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the tangent to the parabola y* = 12x at the point (3, o) be perpendicular to the
line 2x + 2y = 3. Then the square of distance of the point (6, —4) from the normal

to the hyperbola o x> — 9y = 907 at its point (o — 1, 0. + 2) is equal to
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155054068 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O RaTd y2 = 12x & (45 (3, o) U WY @1, W@l 2x + 2y =3 P agad g | il
g (5 4) 3, SRR 2 - 557 = 902 G o 1, 0 +2) T S D
Wi

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054069 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



, -y 2-3 . -
Let the line / :x= S =5 A€ R meettheplane Pix+2y+3z=4at
T .('Ju

4 E'\,

\\Jﬁ J'r

1

the point (o, P, v). If the angle between the line [ and the plane P is cos™
then o + 2P + 6y 1s equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054069 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T [ :x= l_f I3 AR NP x+2y+3z =4
Tk A

165 (o, B, ) IR THeTdl 5 | AT a1 1 9UT 9o P%ﬁﬁﬂwﬁmms‘“ \'%

o+ 2p+6y SR T

;

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054070 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



~

Leff.?:::'"+2j+3£3ﬂdg=f+
i’;.(ﬁxﬁ): 27and b -¢ :—\Eﬂ?‘, then|§>¢5|2is equal to

— k- -Ifgisavectorsuchthatg.c =11,

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054070 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
G=i+2j+3kTUp =]+ j— kB0 @ wfew & fog
Z=11> f;.(g}xﬁ)zgjfﬁiﬂi;f :—\/ﬂﬁﬁ,?ﬁﬁxgjw

3

alr )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054071 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let the probability of getting head for a biased coin be i It 1s tossed repeatedly
until a head appears. Let N be the number of tosses required. If the probability that
the equation 64 x” + SNx + 1 = 0 has no real root is :;'_. where p and g are co-
prime, then g — p 1s equal to

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054071 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

01 U HfHAd g & fow fod o &1 uiiddn i%l =0 IR GR 3BTl Sl
& O/ Ao o el W1 =1 81 S | 711 F9h bl GBTe o1 3aRus YWAIN &
% RV 6432 + 336+ 1 =0 3 ATy &1 7 &9 1 e ¢,
qUT q SEHST B, dlq-pSRERE .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A

Section Id : 715505249



Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 31 Question Id : 7155054072 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A car P travelling at 20 ms™! sounds its horn at a frequency of 400 Hz. Another car

Q 1s travelling behind the first car in the same direction with a velocity 40 ms™.

The frequency heard by the passenger of the car Q 1s
approximately [Take, velocity of sound = 360 ms™]

Options :
71550512891. 514 Hz
71550512892. 421 Hz

71550512893. 485 Hz

71550512894. 471 Hz

3

Online
Mandatory
20

20

80

Yes

0

1
715505249
Yes

null



Question Number : 31 Question Id : 7155054072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

20 ms™! H Il U DR U 814 §RT 400 Hz 31GfRT b1 e 3o Bl 5 |
GO DR ISl PR & YIS 40 ms™! TN Y IAF T IA W | T PR D
AT GRT G STGRT TR © (ForaT 8, €8l T 71 = 360 ms™)

Options :

71550512891. 514 Hz

71550512892. 421 Hz

71550512893. 485 Hz

71550512894. 471 Hz

Question Number : 32 Question Id : 7155054073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The root mean square speed of molecules of nitrogen gas at 27°C 1=
approximately : (Given mass of a nitrogen molecule = 4.6 = 1072° kg
and take Boltzmann constant kg = 1.4 = 107231k

Options:

71550512895. 27.4 m's

71550512896. 91 m/s

L
-2
L N]
8
]

71550512897.

71550512898. 1260 m/s



Question Number : 32 Question Id : 7155054073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

27°C R AAIgeloH T P U[af & o7 Aren gat are e & - (e €, Arseiem
& T U] BT SoUH = 4.6 x 10720 kg UG Slecyid Hadid

k=14 = 102K
Options:

71550512895. 27.4 m's

71550512896. 91 m/s

L
-2
L N]
8
]

71550512897.

71550512898. 1260 m/s

Question Number : 33 Question Id : 7155054074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A space ship of mass 2 * 10 * kg is launched into a circular orbit close to the earth surface. The additional

velocity to be imparted to the space ship in the orbit to overcome the gravitational pull will be (if g = 10 m/s’
and radius of earth = 6400 km):

Options :

11.2 (v‘r_E—I] km's
71550512899,

7.4 (xr_.’l - I] km/'s
71550512900.

8 (w‘ﬁ - I] lam/'s
71550512901.



7.9 («:’I - I] km/s
71550512902.

Question Number : 33 Question Id : 7155054074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 % 10* ke GO0 o UG @l 4 el &1 Maead U qaioR Ha1 H S1e1 ol | ooyt aa
T TR O o Fo et & ety 4 1 foun aiffead am g
(12 ¢ = 10 s> TG T 1 B = 6400 k)

Options :

11.2 (v‘r_E—I] /s

71550512899.

7.4 (*:'I - I] km/s
71550512900.

8 (w‘ﬁ - I] lam/s
71550512901.

7.9 (xE - I] km/'s
71550512902.

Question Number : 34 Question Id : 7155054075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Thermodynamic process, in which internal energy of the system remains
constant 1s

Options :

71550512903. Adiabatic



71550512904, Isochoric

71550512905. Isobaric

71550512906. Isothermal

Question Number : 34 Question Id : 7155054075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S WRTd® UphH forgd Mo ot simdie Sl Had 38dl o

Options :

71550512903, DG

71550512904, JHATOID

71550512905, JHETS!

71550512906, FHTG!

Question Number : 35 Question Id : 7155054076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body of mass 500 g moves along x-axis such that it's velocity varies with

displacement x according to the relation = ;(]\.'"; m/s the force acting on the

body 1s:-

Options :



L

71550512907.

rJ
Lh

71550512908.

Ly

71550512909. 12

71550512910. 166 N

Question Number : 35 Question Id : 7155054076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

500 ZOOHT P U [UUS x-3{& @ SR 58 UBR Tid PRl & [db 5T ail
AR x B Y = 10y m/s G D SFUR Feadl 5| TS W T arel

aﬂ%:
Options :

L

71550512907.

[
L

71550512908.

i

71550512909. 12

71550512910. 166 N

Question Number : 36 Question Id : 7155054077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Eight equal drops of water are falling through air with a steady speed of 10 em/s. If
the drops coalesce, the new velocity 1s:-



Options :

71550512911. 5 cm's
71550512912. 10 em/'s
71550512913. 16 em's

71550512914. 40 cm/s

Question Number : 36 Question Id : 7155054077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U1 1 313 8¢ arg § U6 RR 910 10 em/s SR IET 51 3% 46 A R T 61
Gl]?ﬂ%waj'l%'

Options :

71550512911. 5 em/s
71550512912. 10 em's
71550512913. 16 em's

71550512914, 40 cm/'s

Question Number : 37 Question Id : 7155054078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If V is the gravitational potential due to sphere of uniform density on it's surface,
then it's value at the center of sphere will be:-



Options :

71550512915. V

71550512916.

71550512917. 2

71550512918. 3

Question Number : 37 Question Id

: 7155054078 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

q¢ THIHA " & Tidd & HRUI 59 U8 R [Bid f[ayd v gl, i 71 &

-5 U3 5UpI HH BIT:
Options :

71550512915. V

o | <

71550512916.

-
<

-

71550512917.

71550512918. 3

Question Number : 38 Question Id

: 7155054079 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When vector A =2j + ",; +7); is subtracted from vector B . it g1ves a vector
equal to 2 . Then the magnitude of vector B will be :

Options:

71550512919. 3

-

71550512920. v 5

71550512921, + 13

71550512922. \’IE

Question Number : 38 Question Id : 7155054079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O AR B YWY A=2/+3j+2k PIUCHWUG 2; & IR TP JGW
AdI g1 a9 iy B T RAT EI:

Options :

71550512919, 3
71550512920. v 5

71550512921, ~ 13

71550512922. \a’l'a



Question Number : 39 Question Id : 7155054080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A projectile is projected at 30° from horizontal with initial velocity 40 ms™!. The
velocity of the projectile at t =2 s from the start will be :
(Giveng=10m s9)

Options :

71550512923, Zero

vy
71550512924, 204/3 ms

71550512925, 20 ms !

=3
71550512926, 40,/3 ms

Question Number : 39 Question Id : 7155054080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS T ST T 30° & B0 W 40 ms™! & URENS 977 9 Haifta far o
B Gt =2 s TR U&@ H1 37 e
(ﬁtﬂ%g= 10 m/s%);

Options :

71550512923, k4

R
71550512924, 204/3 ms

71550512925, 20 ms !



—1
71550512926, 404/3 ms

Question Number : 40 Question Id : 7155054081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If force (F). velocity (V) and time (T) are considered as fundamental physical
quantity, then dimensional formula of density will be :

Options :

71550512927, FZV 2T
71550512928, FV3T ™0
71550512929, FV T2

71550512930, FV T2

Question Number : 40 Question Id : 7155054081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
afe 56 (F), 97 (V) 94T 959G (T) D1 ga Hifis 94 fen 9, < 999 &1 fadig
A B

Options :

71550512927, FZV—2T?

71550512928. FViT



71550512929, FV T2

71550512930, FV 2T

Question Number : 41 Question Id : 7155054082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In satellite communication, the uplink frequency band used 1s :
Options :

71550512931. 76 — 88 MHz
71550512932, 420 — 890 MH=z
71550512933. 3.7 - 4.2 GHz

71550512934, 5.925 - 6.425 GHz

Question Number : 41 Question Id : 7155054082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IUYE Y= a1 ¥ Sugad I 3l 9 ©:

Options :

71550512931. 76 — 88 MH=z

71550512932, 420 — 8§50 MHz

71550512933. 3.7 - 4.2 GHz



71550512934, 5.925 —6.425 GH=z

Question Number : 42 Question Id : 7155054083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The logic operations performed by the given digital circuit 1s equivalent to:

;’: ':ﬁ;_\_ %y
_L J/I
»

Options :

71550512935. AND
71550512936. OR
71550512937. NAND

71550512938. NOR

Question Number : 42 Question Id : 7155054083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

{2 17 sfifdre uaY gRI &1 7T, dlfcres Uiha fbda I0qed ©:
=D
- 1

o

W

Options :



71550512935. AND

71550512936. OR

71550512937. NAND

71550512938. NOR

Question Number : 43 Question Id : 7155054084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When one light ray is reflected from a plane mirror with 30° angle of reflection,
the angle of deviation of the ray after reflection is:

Options :

71550512939. 110

71550512940. 1207

71550512941. 130°

71550512942. 140°

Question Number : 43 Question Id : 7155054084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o U UobTel 30T fosdlt ae ERT 30° & URIad 10 ¥ Wiahdd el g,
qRTdd & FURId (B0 &1 f[aga- BIv :

Options:




71550512939. 110
71550512940. 1207
71550512941. 1307

71550512942. 1407

Question Number : 44 Question Id : 7155054085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The energy of He™ ion in its first excited state is, (The ground state energy for the
Hydrogen atom 1s —13.6 eV):

Options :

71550512943, —54.4 eV
71550512944, —13.6 eV
71550512945, —3.4 &V

71550512946. —27.2 eV

Question Number : 44 Question Id : 7155054085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

He™ 3144 1 39| WY Iford a®i1 ol 8 (B15slo TRA] & |y
TR H FHW-13.6 eV B):

Options:




71550512943, —54.4 ¢V
71550512944, —13.6 ¢V
71550512945, 3.4 €V

71550512946. —27.2 eV

Question Number : 45 Question Id : 7155054086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of the de-Broglie wavelengths of proton and electron having same
Kinetic energy :

(Assume my, = m, % 1849)
Options :

71550512947. 2:43
71550512948. 1:62
71550512949. 1:30

71550512950. 1:43

Question Number : 45 Question Id : 7155054086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T TS Foll & WielT aul gadeld Bl aiTGe! o1 ST ([, mp = me
1849) &:

Options:



71550512947. 2:43
71550512948. 1:62
71550512949. 1:30

71550512950. 1:43

Question Number : 46 Question Id : 7155054087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave of frequency 20 MHz propagates in free space along
x-direction. At a particular space and time, F =6.6]V/m- What is B at this
point?

Options :
71550512951, 2.2x 10k T
71550512952, —2.2x 105k T

71550512953, 2.2x 10°%i I’

71550512954, =2.2x 1075/ T’

Question Number : 46 Question Id : 7155054087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



20 MHz g 1 U HAT dqgaae [ a¥i o AR H xR &
ST FaRd §Icl 81 T A A W IHI W, E = 6.6 v/m &1l 59
g BE@®

Options :

71550512951, 2.2x 1075k T
71550512952, 2.2 x 1075k 7
71550512953, 2.2x 1075 T

71550512954, =2.2x 1075/ T’

Question Number : 47 Question Id : 7155054088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A: A bar magnet dropped through a metallic eylindrical pipe takes
more time to come down compared to a non-magnetic bar with same geometry and
mass.

Reason R: For the magnetic bar, Eddy currents are produced in the metallic pipe
which oppose the motion of the magnetic bar.

In the light of the above statements, choose the correct answer from the options
given below

Options :
71550512955, Both A and R are true and R 1s the correct explanation of A

71550512956, Both A and R are true but R 1s NOT the correct explanation of A

71550512957. A is true but R 1z false



71550512958, A is false but R 1s true

Question Number : 47 Question Id : 7155054088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR AP RA TR 0 & AUSYT A T TR B FRUPRUIR Y
fafgd fpar T g |

AUYPYTA: U B3 TP DI UD YD daIHR UIgY 9 §Id= FRH W
g8 U PR 9 GHHH D1 UD TR 5 i ol H - €6 A= |
3{fere grg wdl g |

®RUIR: TEHIT TS & (A0, UTfcdd gy H ov YRU I@= §idl 8 ol
TED TS B 0 BT fa1Y Tl o
SR B & Hau H, 4 33 M fdeedi § 9 91 S 9T

Options :

71550512955, Gl A TUTR U6l © Ud R, A B Hol U &

71550512956, S A TUT R Hel € TR R, A &1 el ARG Tl ©

71550512957, A F6l 8 IR ITAA ©

71550512058, AT 8 IR B ©

Question Number : 48 Question Id : 7155054089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An electron 1s allowed to move with constant velocity along the axis of current
carrying straight solenoid.

A. The electron will experience magnetic force along the axis of the solenoid.
B. The electron will not experience magnetic force.

C. The electron will continue to move along the axis of the solenoid.

D. The electron will be accelerated along the axis of the solenoid

E. The electron will follow parabolic path-inside the solenoid.

Choose the correct answer from the options given below:

Options :

71550512959, A and D only

71550512960, B and C only

71550512961, B: C and D only

71550512962, B and E only

Question Number : 48 Question Id : 7155054089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iG7 5%@§H U Hlelt URTaTe ! URATCIDT @l 3&f o e Fad a7 9 1fd
GG

A. SUFH, URHTTDT B 318 & SIGR JIEH Y &el DI SHd B
B. SUFCH, THEHI § B 3HT ol D

C. UM, URATADHT B 31&f & G TR i DT

D. adcH, URATADT B 31& P IR @Rd gHT|

E. S0acH, URAIS] & 363 WRATaIPR UY &1 STEI01 P

A3 fordi T faretil 7 QO SR IR

Options :

71550512959, had A YU D

71550512960.



$aad B dUIC

71550512961, Pad B, C TUTD

71550512962, Hdd B dUT E

Question Number : 49 Question Id : 7155054090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The current flowing through R, 1s :

Options :

]
71550512963. 2

71550512964, 4

!_,_Jl-.n

71550512965.



2 A
71550512966. 3

Question Number : 49 Question Id : 7155054090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

R, § Yalied URTg :

Options:

1
71550512963. 2

71550512964, 4

!_,_Jl-.n

71550512965.

ad | b

71550512966.



Question Number : 50 Question Id : 7155054091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A capacitor of capacitance C is charged to a potential V. The flux of the electric
tield through a closed surface enclosing the positive plate of the capacitor 1s :

Options :

71550512967. o

71550512968. <0

71550512969. 260

71550512970. Zero

Question Number : 50 Question Id : 7155054091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C HTRd1 & Ue GeTia &1 te v faya a@ mafrg e oiran g1 Jenfa &t
YIS @I B U §U U &5 Y 4 T[oR- d1al [dggd & o1 TRiad g

Options :

'V

71550512967. €0

2CV

71550512968. €0



e

71550512969. =0

71550512970, <K

Physics Section B

SectionId: 715505250
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505250
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 7155054092 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A wire of density 8 x 10% kg/m’ is stretched between two clamps 0.5 m apart. The
extension developed in the wire is 3.2 x 10~ m. If Y = 8 x 1019 N/m?, the
fundamental frequency of vibration in the wire will be Hz

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 7155054092 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

8 x 10° kg/m’ UTcd & U AR B 0.5 m DI g3 IR FUT 1 it & &= @il
STal | IR J 309 [aR 3.2 % 107 m B 1 A& IR & garel o7 47 el
UM Y = 8 x 101 N/m? AR H 10w &1 Iaf 31qf Hz 81

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054093 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The surface tension of soap solution is 3.5 x 10~ Nm ™. The amount of work done
required to increase the radius of soap bubble from 10 em to 20 cm 1s

% 10T,
(take m=22/7)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054093 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1§ & °Id BT Y8 T14 3.5 < 102 Nm™! §1 197 & gaigal B #4110 em I
20 cm 9P 9 H AT B4 BT AT x 1074781

(g, ==22/7)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155054094 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A circular plate 1s rotating in horizontal plane, about an axis passing through its center and perpendicular to the
plate. with an angular velocity o. A person sifs at the center having two dumbbells i his hands. When he
stretches out his hands, the moment of inertia of the system becomes triple. If E be the imitial Kinetic energy of

the system, then final Kinetic energy will be — . The value of x is
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 53 Question Id : 7155054094 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U@ TR bl Al ad 1, T & qvaad 380 D58 TR aTcll 31&f & ORa: U@ S0 d o 9,
YU R T61 | U OAekT T QT 61T & S T 3 b TR 3 Wl 61 76 g 30K g1 o
el & G (T 2T TS AU i 791 81 ol & ) 4fe (e 1 WRIR il S E &1, ff o=

Tﬁﬁ?ﬁf%sﬁﬂl X PIAH gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054095 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A block of mass 5 kg starting from rest pulled up on a smooth incline plane making an angle of 30° with

horizontal with an affective acceleration of 1 ms™. The power delivered by the pulling force at t= 10 s from
the start 15 W

[use g =10 ms™]
(caleulate the nearest integer value)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 54 Question Id : 7155054095 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

$ kg SO 1 UG Tt B 4ot § 30° I G AT oot 7 S1rel 0% FoRTA R o iR e
ST & | S900T T QR L s &1 RPY T = 10 T R 7 G011 T Wi W

( qjaiﬂ‘{“ﬁﬂ’_ﬁﬁ%mgg=lﬁ1ns—3}

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054096 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A nucleus disintegrates into two nuclear parts, in such a way that ratio of their

nuclear sizes is 1 : 21'3. Their respective speed have a ratio of n : 1. The value of n
18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054096 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U% A14® gl ey |vs] § 59 UeR fdaftsd giar s & 39 aifiea
aﬂmm“iaﬂ;gum 1:213 31 3P R A6 BT U n: 1§l n BIHA
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054097 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

As shown m the figure. a plane mirror is fixed at a height of 50 cm from the bottom of tank contaiming water

4
( U :g . The height of water in the tank 1s § cm. A small bulb 1s placed at the bottom of the water tank.

The distance of image of the bulb formed by mirror from the bottom of the tank is em.
LI L]
\
50cm
SOyl e
| nsmempmgn |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 56 Question Id : 7155054097 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

em §1 TV & S &1 Gefl R TP el 9cd ¥l ¢ | ¢ 1 aelt 3 U1 N1 & el & wfofea al g

cm 35' |

LLLLII L))

50cm

Scm—a\l Lt

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054098 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A coil has an inductance of 2H and resistance of 4 Q. A 10 V 15 applied across the
coil. The energy stored in the magnetic field after the current has built up to its

equilibrium value will be x 10721,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054098 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U PHUST Pl IRP@ 2 H TUTURIY 4 Q | HUSHI o RRI & & 10 V%EQ,H
aIg® §a SARITUT g1 YRTH 53 W 4 399 811 & IWI<I JEb g 8 J
Hferd Soll BT A x 10721 BT

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054099 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A metallic cube of side 15 em moving along y-axis at a uniform velocity of 2 ms™. In a region of uniform
magnetic field of magmitude 0.5T directed along z-axis. In equilibrium the potential difference between the
faces of higher and lower potential developed because of the motion through the field will be mV,

Y

p




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054099 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 e 41 T U YT T y-318f O S/ 2 me™ o UHRHIA o 34 T Rall ¢ | 59 UNRR H 0.5
TRHT & U Ja 4 B R 2318 o Srgfa 51 & 1 7110 & PR Sregaey | 3 v
fayd o Tl & §id S fauari mV G|

y

1

z

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054100 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two identical cells each of emf 1.5 V are connected in series across a 10 Q
resistance. An ideal voltmeter connected across 10 Q resistance reads 1.5 V. The
internal resistance of each cell 1s Q.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054100 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1.5 v fdqgd dIie® 9d & &I THHuM Jd U 10 Q Uiaiy & BRI 9 guit pu o
oS 8110 © UeRIY & RRI T 981 U@ 31162 aleeHieR 1.5 V UIadi® odl 6
U Hd DI SRS UlRIY Q%I

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054101 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the given circuit,
(=2 3E, Co =02 pF, Ca =2 nE Cy=4 aF, Cs=2 puF, C,=2 pF. The

charge stored on capacitor C4 is ucC.
[ | 1
1 A
10— s 1 — 0
[ | I
1 | 1
25 o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054101 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ERRID RS RUERE

Ci=2 MR E5=02 pE, €4=2 pE,Cy =4 pF, Cy= 2 pE, Ce=21F, eI

Cy TR Ffdd 31w p(.‘%l

B
| |
11

0V = sz o == o1

| |
11
C.

k|

P~ b

|
|
jl‘_'u
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Chemistry Section A
Section Id : 715505251
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505251
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 61 Question Id : 7155054102 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following pairs 1s an example of polar molecular solids?

Options:

71550512981, SO2(s). NH;(s)

71550512982, SO2(s). CO,(s)



71550512983, HCL (s), AIN (s)

71550512984, MgO (), SO;(s)

Question Number : 61 Question Id : 7155054102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
fFrofafaa & T o1F T oifsT ydig snitad 31T o1 IaTeu 82

Options :

71550512981, SOa(s). NHa(s)

71550512982, SOa(s). CO(s)

71550512983, HCl (5), AIN (s)

71550512984, MgO (s), SO;(s)

Question Number : 62 Question Id : 7155054103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What weight of glucose must be dissolved in 100 g of water to lower the vapour
pressure by 0.20 mm Hg ?

(Assume dilute solution is being formed)

Given : Vapour pressure of pure water 18 54.2 mm Hg at room temperature. Molar

mass of glucose is 180 g mol™

Options :

71550512985, 3-69 ¢



71550512986, 4.69 ¢
71550512987, =39 ¢

71550512988, 3.39 ¢

Question Number : 62 Question Id : 7155054103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oicf & 9T T B 0.20 mm Hg AP °TTH & ol b9 & fdhd= YR &1 100 ¢
g | "iaH g9igu]

@ fergn 9 (& o fdead e99d1 8)

[T T § : TR & A9 W G ofd Pl AT G4 54.2 mm He § | TGP 49 Bl
OTeR GoaHT 180 g mol™! T

Options :

71550512985, 3.69 ¢

71550512986, 4.69 g

71550512987. 239 ¢

71550512988, 339 ¢

Question Number : 63 Question Id : 7155054104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



For a chemical reaction A + B — Product, the order 1s 1 with respect to A and B.

Rate [A] [B]
mol L1 571 mol L~} mol L~}
0.10 20 0.5
0.40 x 0.5
0.80 40 v

What 1s the value of x and v ?
Options :

71550512989. 80 and 2
71550512990. 40 and 4
71550512991. 160 and 4

71550512992. 80 and 4

Question Number : 63 Question Id : 7155054104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬁ@ﬁ%A—BaW,%%ﬁ&fﬂmaﬁﬁﬁAéﬂ?Bﬁ
qad gl

afn [A] [B]
mol L1 g1 mol L mol L~}
0.10 20 0.5
0.40 x 0.5
0.80 40 v

¥ ARy BIAF TG ?

Options :

71550512989. 80 iR 2

71550512990, 40 3R 4



71550512991, 160 3{X 4

71550512992, 80 3T 4

Question Number : 64 Question Id : 7155054105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A solution is prepared by adding 2 g of “X* to 1 mole of water. Mass percent of
“X" in the solution is

Options:

71550512993. 2%
71550512994. 5%
71550512995. 10%a

71550512996. 20%

Question Number : 64 Question Id : 7155054105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
«X» %2 ¢ Pl 1 A I H giaes Gao- g9 Sl g | fgama § «xo &
SoaH U= B

Options:

71550512993. 2%

71550512994. 5%



71550512995. 10%

71550512996. 20%

Question Number : 65 Question Id : 7155054106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : In the metallurgy process, sulphide ore is converted to oxide before
reduction.
Statement II : Oxide ores in general are easier to reduce.

In the light of the above statements, choose the most appropriate answer from the
options given below:

Options:

71550512997. Both Statement [ and Statement I are correct
71550512998. Both Statement I and Statement II are incorrect
71550512999, Statement I 1s correct but Statement II 1s incorrect

71550513000. Statement I 1s incorrect but Statement I1 1s correct

Question Number : 65 Question Id : 7155054106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYF 1 : UTqDHH UshH H YehIss HTH Bl SUdiad 9§ Ugd JHiaags 4
gfafdd fear S g |

PYFII : HTHSS ITIHT BT IS HLAT A Sl 6|
SWRITd YA & YR TR A4 150 72 [dbeul O ¥ ggd Id SR &I IH:




Options :

71550512997 BYTI AR 1 M &

71550512998, @YU 1 GﬂTII _Cﬁ:ﬁ W%I

71550512999 PUT I T TR~ HUT 1 ST T |

21550513000, YT I 38 O U I T ¢ |

Question Number : 66 Question Id : 7155054107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which hydride among the following iz less stable?
Options:

71550513001, LiH
71550513002, BeH

71550513003, NH3

71550513004. HF

Question Number : 66 Question Id : 7155054107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fafied eEsss & Uad o0 W 32




Options :

71550513001, LiH

71550513002, BeH;

71550513003, NH;3

71550513004. HF

Question Number : 67 Question Id : 7155054108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One mole of P, reacts with 8§ moles of SOCI, to give 4 moles of A, x mole of SO,

and 2 moles of B. A. B and x respectively are

Options :

71550513005, PCls: S,Cl; and 4

71550513006, FOCl3. S,Cl, and 2

71550513007, PCl3. 5:Cly and 2

71550513008, POCl3. S,Cl; and 4

Question Number : 67 Question Id : 7155054108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



P, &1 U HId SOCL, & 8 Hidl ¥ SAfHichar dRds A HT 4 Hld, SO, Pl x SR B
BI2WAGAT Sl A, B 3R x U §
Options :

71550513005, PCli. $,Cl, 31X 4

71550513006, POCls. S2Cl, 3R 2

71550513007, PCls. $,Cl, 3R 2

71550513008, POCl3, S,Cl, 3R 4

Question Number : 68 Question Id : 7155054109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Alkali metal from the following with least melting point is:
Options :

71550513009. Na

71550513010. K

71550513011. Rb

71550513012. Cs

Question Number : 68 Question Id : 7155054109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
FafifEd o 9 9ad &1 Sla-i® ardl &R 91d ©:

Options :

71550513009. Na

71550513010. K

71550513011. Rb

71550513012. Cs

Question Number : 69 Question Id : 7155054110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The magnetic moment iz measured in Bohr Magneton (BM).
Spin only magnetic moment of Fe in [FE{HEI':!‘JE]3 " and [Fe(Cf\I)ﬁ]E_ complexes

respectively 1s:

Options :

71550513013. 6.92 B.M. in both
71550513014. 4.89 B.M. and 6.92 B.M.

71550513015. 5.92 B.M. and 1.732 B.M.

71550513016. 3.87 B.M. and 1.732 B.M.

Question Number : 69 Question Id : 7155054110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

ﬂﬁﬁﬁua@fﬁa‘ﬁﬁﬁaﬁ@mﬁww%w
Fe 1 $Had YU 9aP 1T YU Ha! [Fe(H,0)e]> ™ 3R [Fe(CN)]*~ H HHT:

B

Options :

71550513013, GIFI H 6.92 B.M.

71550513014, 4.89 B.M. 31X 6.92 B.M.

71550513015, 5.92 B.M. 31 1.732 B.M.

71550513016, 3.87 B.M. 31X 1.732 B.M.

Question Number : 70 Question Id : 7155054111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : [CoCl(NH;) 5]2_ absorbs at lower wavelength of light with respect to
[Co(NH;)s (H0)]*

Reason R : It is because the wavelength of the light absorbed depends on the
oxidation state of the metal 1on.

In the light of the above statements. choose the correct answer from the options
given below:

Options:
71550513017, Both A and R are true and R is the correct explanation of A

71550513018, Both A and R are true but R is NOT the correct explanation of A

71550513019. A is true but R is false



71550513020. A is false but R 1 true

Question Number : 70 Question Id : 7155054111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HIUSYUT A : [CoCI(NH,)s ] DI @ H [Co(NH;)s (H,0)]°™ Wb HI FH
gt R afd g B

PRI R : Fif ARG YT BT a1 G2 U ST I B ST
R R @A

SWRITd BYl & UR R -9 e 1 faeedl # 9 954 3fEd SR a1 g

Options :

71550513017, Both A and R are true and R is the correct explanation of A

71550513018, Both A and R are true but R 1s NOT the correct explanation of A

71550513019. A is true but R is false

71550513020. A is false but R 1s true

Question Number : 71 Question Id : 7155054112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds is an example of Freon?

Options :

71550513021, C2CLF;



71550513022, C2HoF>

71550513023, C2HF3

71550513024, C2F4

Question Number : 71 Question Id : 7155054112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[Frafeiea O 9 &H 91 gifiTe Ihal- $1 381630 82

Options :

71550513021, €2CLF,

71550513022, C2HoF>

71550513023, C2HF;

71550513024. C2F4

Question Number : 72 Question Id : 7155054113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If Ni%™ is replaced by Pt*™ in the complex [NiCl EBTE]E__L which of the following
properties are expected to get changed ?

A. Geometry

B. Geometrical isomerism
C. Optical 1somerism

D. Magnetic properties



Options :

71550513025. Aand D

71550513026. B and C
71550513027, A. B and C

71550513028, A. B and D

Question Number : 72 Question Id : 7155054113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
g THd [NiCl,Br,]> HNiZ™ DI P2~ ¥ Wiawy1iud S a1 o di Fafarad
& ¥ fop= orem! gad TmaE g2

A, SO
B. W15l SHIGYA
C. YdUT gHGgadl

D. THIY ureH

Options :

71550513025. A 3R D

71550513026. B 31X C

71550513027, A. B 3R C

71550513028, A, B 3R D

Question Number : 73 Question Id : 7155054114 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Complex Colour
A, [Me(NH,PO, I [brown
B. [K3[Co(NO;)g] II. fwhite
C. pMnO(OH), III. pellow
D. [Fey[Fe(CN)gl; IV. [blue

Choose the correct answer from the options given below:
Options:

71550513029, A-IL, B-III, C-1, D-IV

71550513030. A-IL B-IV, C-II, D-I

71550513031, A-IL B-IV, C-I. D-III

71550513032, A-IL B-IIL. C-IV, D-I

Question Number : 73 Question Id : 7155054114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gt 11 11 8 FHfdd By

;_Eﬁ[ QE?TII
qPd L5
A. Meg(NHPO, L @
B. [K3[Co(NO,)g] II. [qg
C. MnO(OH), 1L [dien
D. [Fes[Fe(CN)gl; IV. [Hian
2 i M el § 3 T8 SR AT

Options :



71550513029. A-IL B-III, C-I, D-IV

71550513030, A-IIL. B-IV, C-II. D-I

71550513031, A-IL. B-IV, C-1, D-III

71550513032, A-IL. B-III, C-IV, D-I

Question Number : 74 Question Id : 7155054115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Compound from the following that will not produce precipitate on reaction with
AgNO; 15 :

Options :
Br
71550513033.
CH =CH —CH,— Br
71550513034.
Br
71550513035.

71550513036.



Br

Question Number : 74 Question Id : 7155054115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafeea ¥ 9 gifTe wifes AgNo, & |1y 3ififhar § sraeuur 78! <dl &:

Options:

Br

71550513033.

71550513034.
71550513035.

Br

71550513036. :



Question Number : 75 Question Id : 7155054116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(1) Nal, II3PO4

(1) Mg, Dry ether

H.C—CE, —CH—CH. - > [X]
) T © (D0 Product
OH

Product [X] formed in the above reaction is :

Options :
H
|
H,C — CH, — (l, — CH,
71550513037. OH
71550513038. H3C_ CH=CH— CH3
|
71550513039. D
71550513040. H;C—CH,— CH = CH,

Question Number : 75 Question Id : 7155054116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



(1) Nal, H,PO,
(1) Mg, Dry ether

C—CH, ~CH—EE o - > [X]
) N © (D0 Product
OH
SwRigd Hfiferar & 71 3@ [X] ©:
Options :
H
|
H,C—CH, — C — CH;,4
: 2 | 3
71550513037. OH

H,C—CH = CH—CH,

71550513038,
|

715505130309, D

71550513040. HBC —CHZ_ CH= CHZ

Question Number : 76 Question Id : 7155054117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The major product formed in the following reaction is

Zn(Hg) / HCI
C¢Hs — CH (OH)—CH— CH, CHO > Major products

| A
CH,

CgHs — CH (OH) — CH — C4H,

A. I
CH,
CH.—CH='§ —CH,
B. |
CH,
CHi— C =CH— C,H;
G, |
CH,
0
D. CeHs
CH,

Choose the correct answer from the options given below:

Options :

71550513041, B only

71550513042, A only

71550513043, D only

71550513044, C only

Question Number : 76 Question Id : 7155054117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafead sfifar H a1 T JaG ¢

Zn(Hg) / HCI

C¢H; — CH (OH)—CH— CH, CHO > Major products
| A
CH,

CgHs — CH (OH) — CH— C,H,

A
CH,
CH—TH= € — G,
B. |
CH,
Cgs— C = CH— C,H;
e} l
CH,
o
D. CgHs
CH,
R R e 13 T SR A o
Options :

71550513041, Hdd B

71550513042, Hdd A

71550513043, Hdd D

71550513044, dd C

Question Number : 77 Question Id : 7155054118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

8]

Assertion A : )\/U\ can be subjected to Woltf-Kishner reduction to give
/I‘—I/\ Cl

Cl

O
Reason R : Wolff-Kishner reduction is used to convert || into ,CI [y
PN

In the light of the above statements, choose the correct answer from the options
given below:

Options :

71550513045, Both A and R are true and R is the correct explanation of A
71550513046, Both A and R are true but R 1s NOT the correct explanation of A

71550513047. A is true but R 1z false

71550513048. A is false but R 1s true

Question Number : 77 Question Id : 7155054118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

]
HPWWA:/I\)J\W%HW%)*—I/\%W%
Cl

Cl

0

PRUIR : AP (HY ATIYT BT IugHT g PI ci B ofafdd s d
AN

EGIG

SWRIgd HYl & T T I a8 7 fawedl @ 9 98l Bk &l gH:

Options:



71550513045, A SR R & ¥6l € 3R R, A ®| Hel URAT 8|

71550513046, A AR R &1 TEI ¢ TR R, A D! el ARG el ¢

71550513047, A ¥ € AR 3T

71550513048, A ST RIRIAT

Question Number : 78 Question Id : 7155054119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Compound ‘B’ 15

NaNO, . _NH,SH

b

W

> B
HCl H,0 Ml
OH

Options :

NH,

OH
71550513049.

HS

OH
71550513050.



SH

71550513051.

71550513052.

Question Number : 78 Question Id : 7155054119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i B’ &:

NaNO, X NH,SH

HCI H,0 Major

OH
Options :
NH,
OH

71550513049.

71550513050.



HS

OH

SH

71550513051.

71550513052.

Question Number : 79 Question Id : 7155054120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion A and the other 13
labelled as Reason R.

Assertion A : A solution of the product obtained by heating a mole of glycine with
a mole of chlorine in presence of red phosphorous generates chiral carbon atom.

Reason R : A molecule with 2 chiral carbons is always optically active.

In the light of the above statements, choose the correct answer from the options
given below:

Options :

71550513053, Both A and R are true and R is the correct explanation of A



71550513054, Both A and R are true but R 1s NOT the correct explanation of A

71550513055. A is true but B is false

71550513056. A is false but R 1s true

Question Number : 79 Question Id : 7155054120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ATUFYT A : T BPRGRY B U & Ue 01 WsyH 1 U6 31d daRH
YT IR R W SAIG B! (G070 HIexd Bla- WA 3 Bl 6

HRUIR : 3 DI D51 alell 0] U Yl Fishd g1 |
SRIad Bl o G5 1 A 32 T fasedl @ g8l IR &1 F:

Options :

21550513053, A AR REHI GO & IR R, A D! T8l AAT ©

71550513054, A SR R & § 8 TR R, A &1 H&l URAT 161 &

71550513055, A ¥ 8 QR ST §

71550513056, A ST § R T 8

Question Number : 80 Question Id : 7155054121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Ethene at 333 to 343K and 6-7 atm pressure in the presence of AlEt;

and TiCl, undergoes addition polymerization to give LDP.

Statement II : Caprolactam at 533-543K in H,O through step growth polymerizes
to give Nylon 6.

In the light of the above statements, choose the correct answer from the options
given below:

Options :

71550513057. Both Statement [ and Statement I are true
71550513058. Both Statement I and Statement IT are false
71550513059. Statement I is true but Statement II 15 false

71550513060. Statement I 1s false but Statement II 1= true

Question Number : 80 Question Id : 7155054121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYUF 1 : UL 333 T 343K 1Y 3R 6-7 atm 16 R AlEt; 3R TiCl, B IURRUfd
T g 9ga® I LDP &dl o

HYT I : HUIGFCH 533-543K 10 W H,0 Gls dgad- 9 A5l 6 odl o
IR Dl & T T 14 38 72 faspedl T 9 981 IR &l -
Options :

71550513057, U1 R 11 &I T §

71550513058, U1 SR 11 &I 3§

71550513050, PUT 1 T & TRq DY 11 3T ©



71550513060, P I 3R 8 R FUA 1 FA §

Chemistry Section B

Section Id : 715505252
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505252
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 81 Question Id : 7155054122 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume of hydrogen liberated at STP by treating 24 g of magnesium with excess of hydrochloric acid is
x1072L

Given : Molar volume of gas 1s 22:4L at STP.

Molar mass of magnesium is 24 ¢ mol™!

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 7155054122 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2-4 o DY BT GG IR 3 & 3ty & P g STP R 307 e &
SIBGES SEIFAE

feaT T B : STP IR T T HITR 3Mad 224L B
T &1 HIeR S60HTH 24 g mol ™! B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054123 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The maximum number of lone pairs of electrons on the central atom from the
following species 1s
CIGE__. KEF4, SF4 and I_q_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054123 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad Sifaal § S5y wRum] W e ay Uhie! g gaagml ©f G
gl

CIDE_, X'EF;‘__. S].'_'_1 and 13_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155054124 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of correct statements from the following 1s

A, For 1s orbital, the probability density 1s maximum at the nucleus

B. For 25 orbital, the probability density first increases to maximum and then decreases sharply to zero.

C. Boundary surface diagrams of the orbitals encloses a region of 100% probability of finding the electron.
D. p and d-orbitals have 1 and 2 angular nodes respectively

E. probability density of p-orbital is zero at the nucleus

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 83 Question Id : 7155054124 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafead 4 98 oul o1 e e

A. 1s PED P [0 WIS 97 oD R HUPaHE

B. 2s PP o (10 WA U Ugel SHemad da gedl 6 (Y duil Y I dd uedl 3|
C. 3fdcal & I 9de SANE DI o 91 9 B 100 % Wil ard & &I 8Rd 5
D.p aﬂ_\’d-fﬁ&iﬁﬁm: 1 WEW%%I

E. @ TR p- Géfd 1 Wifdieal 97 I &

AT e T fosedl ¥ Had 3id ST Bl :

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 7155054125 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The total number of intensive properties from the following 1s

Volume, Molar heat capacity, Molarity, E® cell, Gibbs free energy change, Molar
mass. Mole

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 84 Question Id : 7155054125 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofafad & 9 e 1o @t $a Jem g
TG, ATeR FHETeTar, Arerdl, E° 3, fiTss gad Iol gikadH, TR
SogHH, Hid

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054126 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

4.5 moles each of hydrogen and 1odine 1s heated in a sealed ten litre vessel. At
equilibrium, 3 moles of HI were found. The equilibrium constant for H,(g) + I,(g)

— 2HI(g)1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054126 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

EIRSIoH 3R TS Ud® & 4.5 A1d & U &¥ diex 8- i § 7 faa
1| FHTERYT UR HI & 3 HId {1 Hy(g) = I(g) = 2HI (g) & [o7U Trmawi
f&Ri® g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054127 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of correct statements from the following is

A. E.. 1s an intensive parameter

B. A negative E® means that the redox couple 1s a stronger reducing agent than
the H™/H, couple.

C. The amount of electricity required for oxidation or reduction depends on the
stoichiometry of the electrode reaction.

D. The amount of chemical reaction which occurs at any electrode during
electrolysis by a current is proportional to the quantity of electricity passed
through the electrolyte.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054127 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa d 3 98 ouel & 9= Bl

A Ban T TR TUI

B. BUTA®S E° &1 314 3 o YSIa g1 H™/H, @ da-1 & Yad S99 d & |

C. AT 3YdT 3U=g P oy H1aRgS faggd URI &1 O SadS
ffepar & et = iR axdl g

D. faggd YRT gRT degd 3ude H I [que &1 am1 dggdsiged §
vaTfed faggd YRT®! HHT & R Sl |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 7155054128 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of correct statements about modern adsorption theory of
heterogeneous catalysis from the following 1s

A. The catalyst is diffused over the surface of reactants.

B. Reactants are adsorbed on the surface of the catalyst.

C. Occurrence of chemical reaction on the catalyst’s surface through formation
of an mtermediate.

D. It 1s a combination of intermediate compound formation theory and the old
adsorption theory.

E. It explains the action of the catalyst as well as those of catalytic promoters
and poisons.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 87 Question Id : 7155054128 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T & 8 sy fowif SaRu  df g s Rl e ol e @)

A, HHRS! B I8 T SoRD TR0 il o

B, APR® JORE 31 9ag | A gl o g

¢, HFRG! 31 T R TP WHa1 U Aea 96 &1 /e 3 2 gl

D). 75 e 2iep (g iR R ffeia g 1 g g

E. T JOR® ! o0 & Y-91Y JaR® 94 iR favaRa o1 i1 1 +ft oo et ¢

e R R

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054129 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Mg(NO;), XH,0 and Ba(NO; ), YH,O., represent formula of the crystalline forms

of nitrate salts. Sum of X and Y 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054129 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mg(NO3), XH,0 3R Ba(NO5),"YH,O0 AT3ec @quil & febpeiird 39 & I Bl
FfUd BRd T 1 X IR Y BTN gl

Response Type : Numeric
Evaluation Required For SA : Yes
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Number of compounds from the following which will not produce orange red
precipitate with Benedict solution is

Glucose, maltose, sucrose. ribose, 2-deoxyribose, amylose. lactose
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The number of possible 1someric products formed when 3-chloro-1-butene reacts
with HCI through carbocation formation 1s
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